C:# Understanding Division Problems Name:

Use the completed division problem to answer the question. Answers
1) A box can hold two brownies. If a baker made nine brownies, how many 9:2=4r1
full boxes of brownies did he make? T 1.
2.

2) Roger had eighteen pieces of candy. If he wants to split the candy into eight
bags with the same amount of candy in each bag, how many more pieces 18+8=2r2 3.
would he need to make sure each bag had the same amount?

3) Edward hasto sall fifty-eight chocolate bars to win atrip. If each box
contains six chocolate bars, how many boxes will he need to sell towinthe 58+6 =9r4 5.
trip?

4) A botanist picked thirty-nine flowers. She wanted to put them into four
bouquets with the same number of flowersin each. How many more should 39+4 =93 7.
she pick so she doesn't have any extra?

8.
5) A restaurant needs to buy nine new plates. If each box hastwo platesin it, 92=4ar1
how many boxes will they need to buy? e 9.
10.

6) Mikewanted to give each of histhree friends an equal amount of candy. At
the store he bought sixteen piecestotal to give to them. He many more 16+3=5r1
pieces should he have bought so he didn't have any extra?

7) A box of cupcakes cost $three. If you had twenty dollars and bought as

many boxes as you could, how much money would you have left? 20-3=6r2

8) Theroller coaster at the state fair costs four tickets per ride. If you had
thirty tickets, how many tickets would you have left if you rodeitasmany 304 =712
times as you could?

9) Anindustrial machine can make sixty-seven crayons aday. If each box of
crayons has nine crayons in it, how many full boxes does the machine make 67+9=7r4
aday?

10) Adam bought seventy-seven pieces of candy to give to eight of hisfriends.
If he wants to give each friend the same amount, how many pieceswould 77+8 =915
he have |eft over?
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C:# Understanding Division Problems Name: Answer Key

Use the completed division problem to answer the question. Answers
1) A box can hold two brownies. If a baker made nine brownies, how many 9:2=4r1
full boxes of brownies did he make? T 1. 4
2 6

2) Roger had eighteen pieces of candy. If he wants to split the candy into eight
bags with the same amount of candy in each bag, how many more pieces 18+8=2r2 3. 10
would he need to make sure each bag had the same amount?

4 1
3) Edward hasto sall fifty-eight chocolate bars to win atrip. If each box
contains six chocolate bars, how many boxes will he need to sell towinthe 58+6 =9r4 5. S
trip?
6 2

4) A botanist picked thirty-nine flowers. She wanted to put them into four
bouquets with the same number of flowersin each. How many more should 39+4 =9r3 7. 2
she pick so she doesn't have any extra?

8 2

5) A restaurant needs to buy nine new plates. If each box hastwo platesin it, 92=4ar1
how many boxes will they need to buy? e 9. /
10, 5

6) Mikewanted to give each of histhree friends an equal amount of candy. At
the store he bought sixteen piecestotal to give to them. He many more 16+3=5r1
pieces should he have bought so he didn't have any extra?

7) A box of cupcakes cost $three. If you had twenty dollars and bought as

many boxes as you could, how much money would you have left? 20-3=6r2

8) Theroller coaster at the state fair costs four tickets per ride. If you had
thirty tickets, how many tickets would you have left if you rodeitasmany 304 =712
times as you could?

9) Anindustrial machine can make sixty-seven crayons aday. If each box of
crayons has nine crayons in it, how many full boxes does the machine make 67+9=7r4
aday?

10) Adam bought seventy-seven pieces of candy to give to eight of hisfriends.
If he wants to give each friend the same amount, how many pieceswould 77+8 =915
he have |eft over?
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C:# Understanding Division Problems Name:
Use the completed division problem to answer the question. Answers

4 6 2 1 10
5 7 2 2 5 1

1) A box can hold two brownies. If a baker made nine brownies, how many
full boxes of brownies did he make?

9+-2=4rl 2.

3.
2) Roger had eighteen pieces of candy. If he wants to split the candy into eight
bags with the same amount of candy in each bag, how many more pieces 18+8=2r2 4.
would he need to make sure each bag had the same amount?
5.

3) Edward hasto sall fifty-eight chocolate bars to win atrip. If each box
contains six chocolate bars, how many boxes will he need to sell towinthe 58+6 =9r4 6.
trip?

4) A botanist picked thirty-nine flowers. She wanted to put them into four
bouquets with the same number of flowersin each. How many more should 39+4 =9r3 8.
she pick so she doesn't have any extra?

5) A restaurant needs to buy nine new plates. If each box has two platesin it,

how many boxes will they need to buy? 9:2=4r1

10.

6) Mikewanted to give each of histhree friends an equal amount of candy. At
the store he bought sixteen piecestotal to give to them. He many more 16+3=5r1
pieces should he have bought so he didn't have any extra?

7) A box of cupcakes cost $three. If you had twenty dollars and bought as

many boxes as you could, how much money would you have |eft? 20:3=6r12

8) Theroller coaster at the state fair costs four tickets per ride. If you had
thirty tickets, how many tickets would you have left if you rodeitasmany 30+4=71r2
times as you could?

9) Anindustrial machine can make sixty-seven crayons aday. If each box of
crayons has nine crayons in it, how many full boxes does the machine make 67+9=7r4
aday?

10) Adam bought seventy-seven pieces of candy to give to eight of hisfriends.
If he wants to give each friend the same amount, how many pieceswould 77+8 =915
he have left over?
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